Maths Homework Y5 Mr Masingiri
Date set: 13/10/20
Date due: 19/10/20

ANSWERS
Section 1 - Section 2 -
1. 30,000 + 20,756 = 50,756 1. 1,247 =1000+200+40+7
2. 12 x11=132 2. 8,482 =9,782 -1,300
3. 7,814 =7,914 - 100 3. 500,000 + 3,000 + Fifty-six = 503,056
4. Double 2,550 = 5,100 4, 62 +10,000=10,062
5. 63+-7=9 5. 11,950 - 8,000 = 3,950
6. Jane buys 60 packets of stickers. Each packet 6.

contains 4 stickers - how many stickers has she
bought in total?

Jane has 240 stickers in total

75850
10000 65,850




